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e BRHIANDEMDIZKDD: sum
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* sum([1,2,3]) #=> 0
« sum([T,[2,3]]) #=> 06
+ sum([1,[[[[2]1],31) #=> 6
« sum([1,[2,3],[[5], 6, [7]]]) #=>24
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» def sum(obj) 3
if obj.respond_to? :each
s=0

obj.each {|v| s +=sum(v) }
S
else
obj
end
end
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I sum @ respond_to?

e def sum(obj)

I |f§re5pond to? eﬁ%
o

obj.each {|v| s += sum(v) } Objiceach’*®H 25
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sum(100)D =17
- defsum(obj» 1000 E>TLS

I if obj.respond_to? :each = {&[C725
Zgjgach {lv] s +=sum(v) }
elsse
o 100%ET
end




sum([1,2,3])D=E1T

« def sum(obj

if obj.respond_to? :each

s=0

obj.each {|v| s +=sum(v)

S
else
obj
end
end
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Array#flatten

1,[2,3], [[4]]].flatten

o [].flatten

1,2,3].flatten
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def flatten(v) o
if v.respond_to? :each '
r=|]
v.each {|e| r += flatten(e) }
r
else
\
end
end
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flatten(1) #=> [1]



flatten(1) DEN{E
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if v.respond_to? :each ~ Ay

r =]
v.each {|e| r += flatten(e) }
r
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flatten([1,2]) DEIE
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e

flatten([1,2]) #=>1[1, 2




flatten([1,2]) DEIE

defflatten(vk [ 1,2]0NEZIN 3

if v.respond_to?:each < -1z

=]
v.each {le| r +=
r
else
[V]
end
end
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def flatten(v)
if v.respond_to? :each

r=|]

v.each {|e| rﬂatten (e) }

r
else
[v]
end
end
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I flatten D=E&EH (S FER)
def flatten_acc(v, r) ) def flatten(v)
iIf v.respond_to? :each r=1]
I v.each {le| flatten_acc(e, r)}  flatten_acc(v, r)
else r
r<<v end
end

end
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» FRFIDAREICERERIENICIENMNT S
« L TCTENEFETENIMFI 5: O(1)
ENFEFREIFECHI DR IICEA R LAV (FITT)

51

ary =1[1,2,3]

ary << 4 # ZODBEEET ary 1d[1,2,3,4] ICH5
ary << 5

ary << 6

p ary #=>1[1,2,3,4,5,06]

I'I'I




I flatten_acc @ Array#<<
def flatten_acc(v, r) ) def flatten(v)
iIf v.respond_to? :each r=1]
I v.each {le| flatten_acc(e, r)}  flatten_acc(v, r)
else r
< << v% end
end

end



flatten D EXH (Z1FEHR)

def flatten_acc(v, r) 3% def flatten(v)
iIf v.respond_to? :each r=1]
v.each {le| flatten_acc(e, r)}  flatten_acc(v, r)
else r
r<<v end
end
end
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« def gsort(ary)
return ary if ary.length <=1
pivot = ary|O]
smaller, bigger =@YIT..-1].partition {|v| v < pivot

b
gsort(smaller) [+ [pivot] + gsort(bigger)
end
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* :plus, 1, [imult, 2, 3]] < [:mult, [:plus, 1, 2], 3]
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* [:plus, 1, [:mult, 2, 3]]
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1) #=>1
:plus, 1, 2]) #=> 3
minus, 1, 2]) #=> -1
:plus, 1, [:mult, 2, 3]]) H=>"7
‘mult, [plus 1 2] [:minus, 3, 4]]) #=> -3




I calc D=EI

def calc(exp)
if exp.respond_to? :to_int
exp

I else

case exp|O]

when :plus
calc(exp[1]) + calc(exp[2])
when :minus
calc(exp[1]) - calc(exp[2])
when :mult
calc(exp[1]) * calc(exp[2])
when :div
calc(exp[1]) / calc(exp[2])
end

end

end




obj.respond_to? :to_int

e Ruby TE#Z to_int XYy RAHD
o BEELIA SRRz
* respond_to? :to_int CEHEHIETES

def calc(exp)

ifléXp.respond_to? :to_int)
exp
else

e-r.m.d
end
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Ruby  C
case =, » switch (R\) {
when =, case B

3% N break;
éise a.efault:

3% 3 break:
end ]
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def calc(exp) CaIC OD case

if exp.respond_to? :to_int

exp
T exp DRADBHN
| :plus D,
calc(exp[1]) + calc(exp[2]) ‘minus D,
when :minus ‘mult D>,
catclexpll)-calelexpl2) gy vz k> Toig
calc(exp[1]) * calc(exp[2])
when :div
ﬁcalc(expﬂ:) / calc(exp[2])
end

end



I def calc(exp) CGIC(1 OO)

if exp.respond_to? :to_int —

exp
else \
case exp|O]

when :plus
calc(exp[1]) + calc(exp[2])
when :minus
calc(exp[1]) - calc(exp[2])
when :mult
calc(exp[1]) * calc(exp[2])
when :div
calc(exp[1]) / calc(exp[2])
end
end
end
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calc([:plus, 1, 2])

def calc(exp)
if exp.respond_to? :to_int

exXp ;\1?%6:72&%
cise - plus (Z785
0 - p -, .
eend U SEs mpLrs
Chalc(exp[‘ ]) + calc(exp[2]) '% LELT
when :minus \
Chalc(exp[ll]) calc(exp[2]) R0 3RS
when :mu _ o
calc(exp[1]) * calc(exp[2]) IDHIYUTTRLE
when :div 1 2
calc(exp[1]) / calc(exp[2])
end 1 T 2 j/i
end . 1+2

end DHTI=Y Tol%
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calc([:mult, 2, 3])

def calc(exp)

if exp.respond_to? :to_int

exp
else

\12‘%0:@5

case exp|O]

. multIZ78%

when :plus

calc(exp|T

]) + calc(exp[2]) — L0

when :minus 

calc(exp[1]) - calc(exp[2])

when :mu_It

calc(exp

il |

)-calclexplel)  —HT 3B
]) *calc(exp2]) = HIR|L7=1

when :div
calc(exp
end
end
end
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(1+2)X(3—4)

o calc([:mult, [:plus, 1, 2], [:minus, 3, 4]]) #=> -3
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if exp.respond_to? :to_int
exp

I def calc(exp) ;&@-Ij_/_.l_(\)_ |\

when :plus
calc(exp[1]) + calc(exp[2])
when :minus
calc(exp[1]) - calc(exp[2])
when :mult
calc(exp[1]) * calc(exp[2])
when :div
calc(exp[1]) / calc(exp[2])

n :pow
c(exp[1]) ** calc(ex

end
end
end

else
I case exp|O]
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;/.\;hen :POW
calc(exp[1]) ** calc(exp[2])
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#=> 1

H=> 2

#=> 120

#=> 3628800
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def calc(exp)
if exp.respond_to? :to_int t= 1
exp L. upto ) {li| ret *=i }
else
case exp[0]

when :plus
Calc(exp 1]) + calc(exp[2])
when :minus
calc(exp[1]) - calc(exp[2])
when :mult
calc(exp[1]) * calc(exp[2])
when :div
calc(exp[1]) / calc(exp[2])
when :pow
calc(exp[1]) ** calc(exp[2])

n :fact
t(calc(exp[1])) ’

end
end
end
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fact ADoK % BN fact DEZEZEN

def fact(n)

when :fact ret =1
fact(calc(exp[1])) 1.upto(n) {|i| ret *=i }

ret

end
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calc([:plus, 1, 2]) #=> 3
calc([:plus, 1, 2, 3]) #=> 06
calc([:plus, 1, 2, 3, 4]) #=>10
calc([:plus, 1, 2, 3, 4, 5]) #=> 15
FEEDODIOBEFENABER LD calc ZILART S
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